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1. The number of hours a light bulb burns before failing varies from bulb to bulb with a mean g = 200 hours and a
standard deviation o = 12.3. The population distribution is skewed right. E ':l.J

If an SRS of 5 bulbs were selecte “}ﬁ 1 7
a. Describe the shape of the (%str ion:
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b. Find the sample distribution mean:
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¢. Find the sample dlstrlbutlon standard deviation:
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If an SRS of 40 bulbs were selected, then

d. Describe the shape of the distribution: ) ) . \
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e. Find the sample distribution mean:
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f.  Find the sample distribution standard deviation:
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2. A certain beverage company is suspected of underfilling its cans of soft drink. The company advertises that its

cans contain, on average, 12 ounces of soda with standard deviation of 0.4 ounce. Assume that the company is
telling the truth.

a. A quality control inspector measures the contents of an SRS of 50 cans of the company’s soda and calculates the
sample mean X . What are the mean and standard deviation of the sampling distribution of X for sample size n =
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b. The inspector in part (a) obtains a sample mean of x =11.9 ounces. Calculate the probability that a random t S J
sample of 50 cans produces a sample mean fill of 11.9 ounces or less.
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c. What would you conclude about whether the company is under ﬁlhng its cans of soda? Justify your answer.
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3. Explain the Central Limit Theorem in your own words with regards to shw R \
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4. The graph below shows the population distribution of test scores (x) on a difficult exam and the population mean exam
score (/L ). Put the following two graphs on the axis below: ) j

a. Use asolid line to draw an estimate of the graph of the sampling distribution of X forn =4 E e
b. Use a dotted line to draw an estimate of the graph of the sampling distribution of X for n = 50. C’l—]




